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There are a total of 26 questions and five sections in the question paper.

All questions are compulsory.

Section A contains questions number 1 to 5, very short-answer type

questions of 1 mark each.

Section B contains questions number 6 to 10, short-answer type I

questions of 2 marks each.

Section C contains questions number 11 to 22, short-answer type II

questions of 8 marks each.

Section D contains question number 23, value based question of 4 marks.
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Section E contains questions number 24 to 26, long-answer type questions

of 5 marks each.

There is no overall choice in the question paper, however, an internal
choice is provided in one question of 2 marks, one question of 3 marks and
all the three questions of 5 marks. In these questions, an examinee is to

attempt any one of the two given alternatives.

@usg <h

SECTION A

IR e IR AT He H TR FJasy |

How does a degenerate code differ from an unambiguous one ?

el fawem (drenfem) forelt oft Sfta & <ifies Sfia-=sk # Tt 1fd e
AT B | g HROT FdTs |

Meiosis is an essential event in the sexual life cycle of any organism. Give

two reasons.

“oqs1 wafie oMt fgdftoes 3ue g1 € & Wehar 8 |7 38 wed 1 gfE
S |

“Man can be a primary as well as a secondary consumer.” Justify this

statement.

IMURA 3R gleed gro wfadtiea uftesfeua g i fofiau |

Write the hypothetical proposals put forth by Oparin and Haldane.
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RNA Uit 11 1 &1 & BIdT 3 2

Write the function of RNA polymerase II.

Qs @

SECTION B

foramt gro ge foredt & sramiies (wdrfufaess) oSt & 3T A % Q@
AT 1 gea i |

Suggest two advantages to a farmer for using apomictic seeds of hybrid

varieties.
fom-agem St & sremm & fow A.w=. @il 3 g7gifor Acriieet o F=4
12

Why did T. H. Morgan select Drosophila melanogaster to study sex linked

genes for his lab experiments ?

TIH o Y€ I BT 8 2 390 IH-0 § fohg YehR Tt fierdt 7 2

What is joint forest management ? How can it help in conservation of

forests ?

IS 3N SE:Hhor o o= X Farsy |

AT

T TAC HdA o SYH hl gl H SAaaeg A o W AU A B 3 |
wE HIWT |
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Differentiate between outbreeding and outcrossing.

OR

Bottled fruit juices are clearer as compared to those made at home.

Explain.

HEEAA d1Y Gyeh, TUEThd T gaieruiE gifedfadt & foe fohe wehR TgRfoid
B8 ? 2

How does a desert plant adapt to the dry, warmer environmental

conditions ?

Qg

SECTION C

Iedd g T BT 3 2 39 W s Sfdey =i o feam mam g 2 3

What is amniocentesis ? Justify the statutory ban on it.

qTd ST oh 1T G 1 Teh IR NG FEY | 3

Draw a diagrammatic, labelled sketch of a sectional view of human ovary.

T 3B <hl HERdT ¥ AuEr) faenma 1 s i | 3

Explain divergent evolution with two examples.

(a) TrfaRga feafaa 9 89 a9 wHa Oi/faeeri o 9 <qTsT -

() s Yot BEgios AT THTEH % %ed & oY Iaiert S
H IcqNEd 8 S

(i) 219 TOEA i T ARk gid (i) foemm @
(iii) AT (TURE T&9) XXY &
(b) S feu Tu e # Tftra Ti/feehRl BT IS Tsh AT SIS | 3
5 P.T.O.
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(a) Name the kind of diseases/disorders that are likely to occur in
humans if

) mutation in the gene that codes for an enzyme phenyl

alanine hydrolase occurs,
(i1)  there is an extra copy of chromosome 21,

(i1i1)  the karyotype is XXY.

(b)  Mention any one symptom of the diseases/disorders named above.

DNA-Sfiepfae sl sTeeteft JISH1 < TTifieh JH107 Segd i o T Argeree

% WK GUEAT i fohd ThR TYH Tehall AT 2

How was a heavy isotope of nitrogen used to provide experimental

evidence to semi-conservative mode of DNA-replication ?

SITSTENfiehl T U IHE AMCH I8 T § foh sHE digshAmei-ufaue wume
Trer <ht fore faepfera <t S Tehdl 8 | TR qrst o a8 fohm yeR @ve
fora 51 @ |

One of the major contributions of biotechnology is to develop
pest-resistant varieties of cotton plants. Explain how it has been made

possible.

(a) TP H B ITcT BIEHIE TR HIE Fshi o & I3 Qf 3 Fq1sy |
(b) ShauriEi § wiEwd i g fafiay |

(a)  State any two differences between phosphorus and carbon cycles in
nature.

(b)  Write the importance of phosphorus in living organisms.
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(a) WG H S qifl &R o {39 ISEW od g el i s
ST |

(b) 3IuIh TRfUe ¥ vged It TR & Rt ANy It T I TP T 6N
Shiteh Y H TedT Sl & | SATET hiffu |

(a)  Construct a pyramid of numbers by taking suitable examples for
each trophic level in an ecosystem.

(b)  Explain why a progressive decline is seen in the population size
from the first to the fourth trophic level in the above pyramid.

IR &1 i @ & fau arfga-aa =1 foem TR sedaTa foman S genat © 2

GHSATHL ddigy |

How can sewage be used to generate biogas ? Explain.

SWIH 3GTEN <l TERaT & Sia-fafaear Twew & fow gehivt €9 @ Iwmft ofk
SYh € Y IYATT Tebt bl T HIT |

Compare narrowly utilitarian and broadly utilitarian approaches to

conserve biodiversity, with the help of suitable examples.

Fifea SfF o |1 I AR T afedd e & fau 3| SfA & e gfadt
JMETIHAT Bl 8 | 38 Afa S <l 9t T § gfaai TR &6 8 W
TfShaT AT 9TH SdTST qT IHeh] SIREAT shifoTT |

Many copies of a specific gene of interest are required to study the
detailed sequencing of bases in it. Name and explain the process that can
help in developing large number of copies of this gene of interest.

yfose TEIfeIts TAEH EcoRI 31 fsham gr1 gt DNA frmfor st goria &
T e yatE =1 sATET |
AYAT

DNA-GUS] ! g i H a1 AGENfiehl o T o fole 32 3uered i |
YITh eheTeh ST ATH SIATST AT Ih! AT HITTT |
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Prepare a flow chart in formation of recombinant DNA by the action of

restriction endonuclease enzyme EcoRI.

OR

Name and explain the technique used for separating DNA fragments and

making them available for biotechnology experiments.

Qs ¥

SECTION D

A9 T TS gRI & Tl SFRfCH-aTel # wfia g | 98l o <’ T 9
HEHH T I H 93 HI AN Ha1 ®@ o AR Forell ugred &1 da7 W © 9 |
I L A1G 39 Y4 H ¥ Teh ASh! G- @, STETH AR hid oM 3TN I8
THH O AY9Y B T | Jd B R/ Id1 o R 3 ot Aes (Aefie) e o
Yo H @ A |

(a) T AT Y HIA-A/TRS o ARG Sl 30 1A hl AT < ?
BI/AT | 39 I Al gfY S % T ST waTsy |

(b)  ford 2 TS wEe % A o S A e afe % W # o e
T % TR i et % fore o AR |

() 3 T o fRaa Hi fhegl Q1 faler 1 garma QT arfep 37 it
Tgret o S fopy ST % Raetts Aisaei § Sgfa Uer <l S Eeh |
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You have attended a birthday party hosted by one of your classmates.
You found some guests at the party sitting in a corner making a lot of
noise and consuming ‘something’. After a while one of the boys from the
group started screaming, behaving abnormally and sweating profusely.
On enquiry you found that the group members were taking drugs.

(a) Would you inform your parents/school authorities ? Yes/No. Give
reasons in support of your answer.

(b)  Prepare a note to be circulated amongst the schoolmates about the
sources and dangers of any two drugs.

(c) Write any two ways that you will suggest to your school principal
so as to promote awareness amongst the youth against the use of
these drugs.

Qs ¢

SECTION E

(a) Ued g SEdTiad guTferdt <1 e sarsu qen sqeh! samean i |

(b) TUYH § THEHR F, 91 F, Tdfd & AA0TET 70 Joqwferan gumia &
Sefh HHa eRr o § wggwar e § | ¥ N foufyat adw
THHR F, a1 F, Fald & fore wohr fim 2 2 samen i | 5

AT

ohegforal H SgeEH-Nihan 1 samen Hif | 5

(a)  State and explain the law of dominance as proposed by Mendel.

(c) How would phenotypes of monohybrid F; and F, progeny showing
incomplete dominance in Snapdragon and co-dominance in human
blood group be different from Mendelian monohybrid F; and F,
progeny ? Explain.
OR

Explain the process of transcription in Eukaryotes.
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Aiforl-fae HRIHH & 3T@d, o¥ § il &1 I w6 fag fEfa
HAEE W &g Y0 9 = I il % ek T Y |

(a) b1 (ddF) w1 B 7 ? wmenst fh 9= ° 399 fhw yeR UM &+
gt gfeeetn Icar g1 St R |

(b) TH-Uh IUYH IeTEWN hl TERCT & |fsha MR Ffesha ufwan & dfw 7w
ERIE
AT

SI9-35Th T B & ? HY H ITeh! YR T JUH HINT | THTR(Hh-3dTeh hi
YT FAI-39Teh! hl T I & ATl B 2

Under polio prevention programme, infants in India were given polio
vaccines on a large scale at regular intervals to eradicate polio from the

country.

(a)  What is a vaccine ? Explain how does it impart immunity to the

child against the disease.

(b)  With the help of an example each, differentiate between active and

passive immunity.

OR

What are biofertilizers ? Describe their role in agriculture. Why are they

preferred to chemical fertilizers ?

10
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(a) UNIEIHT § ETOT o &1 9 AR hich SIo o [HHU deh shl =131 hl
T il |

(b) Th Vegftr stw & fafir wmil o) sifemret % qurEd-ER (ZEor)
1 Ieci@ hITTT |

AT

Al § e 3T 37atiaur Ufshanati shl samen ity |

(a) Explain the events after pollination leading to the formation of a
seed in angiosperms.

(b)  Mention the ploidy levels of the cells of different parts of an
albuminous seed.

OR

Explain the process of fertilisation and implantation in humans.
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